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An electioon mumes ireethy afong 4 strmght

brve (in the wdirection) of lencth ( F ) baing 5
resinicled or the rampe « = B o N = § i
pravnd state wave funckion 15

; ., iy
wix) -..-«J'E.-'f SEH —

i !

What 15 the probability of fnding the
electron at the mud-point of the hee” f
a I
ir i
£ 112
d
What iz the ratio of the pround state energy
o an eleciron movme m Be' e that of pne ]

moving i Ly (Fresume thal both behave
brhe v drogen o}

kA3

(LN W 1
£ e

d Wih

Match List-f with List-Il and selec
correc unswer wsing e code s
the lists

Lise-I

{ILAP AL Syvapinl)
A il
B U
LA
G i,
L.ist -t

o I
AL BLCL D4

B AZ B4 C2 [0

¢ AL B4 O30

d A3 R, C2 I

Which pair of sonie sobids has the soowe
Madelung constam!”!

g Nall and CaC't

k. NaCl and Caf K
£ s and Ml

g
B P T -

Which one of the followirg lonthanides 1=
colourfess *

a Pr
B e’
e Smt
4 Ev'

Two medal atoms g a in
are on w-axis The ons
ke suitahle for which

& m-hond overlap
b, a-bosd o e

According 1o VSERR theory, what are the
bond unples e MH:. HO e SF,
respecively”?

O e A T R i IR

B DN JOT IR, ot

Co BT 2T HEF IRTOR M)

g IndT 2T 0T AR RAT 3

What 15 the peomeln of nitrogen atom n
NH L NECH S and NESTTCH: 30 molecules

¢ Trigonai planar in all three cases
b Tragongl pyramical i all ivee cases

¢ Trigosal  permddal oan NH:; o md
NUCH:  while wmgonal  planar .
NISHO )

What s the E vatue ot the eque alent pou
of virion of Fe' egainst KMnO4
{E“r:,_.:. Fer- B 7T % and E:un{u. MVni- T | 52
Vi
4 Much less han 077 ¥

Mich gremer than 1 32 W

Between D77 Vand 152 ¥
R el
“omsider e following siatemends:

=

b~ v
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Hh

boohoma, BN soa hase dn cono, #50,
mediurmn. 17

2 Accordimg b [ows thoory, H50H s
ralbicy an acid-Bane addel tay on acid

50 BT, K - KBF can be reganded a4 an
weigh-hase reactuon.

Which of the shstements given above are

. "
wiorreel! 8

a. | aad 2 onls

b Tand 3 enly

wo 2and 3emily

d 1L 2amid

Which one of the following reactions is net
expeciod ta ovear an HSARB prinepie”

a. Mok HOY
o ofrafh o M s el FOT

o {lpt’l-+ 2F s pl - XY

do Mg = MO e MO

Which one of e Tollowisg  chomial
speeses car bekave both s a Hromsted-
fowry motd and a base ? %)
a. Ig)

b [0,
o MO,
L

Wt w1 (e ranzing poing of hoovy wa

I A

W JRY O

oo AT

. IR

Bl s soetecieog

the lobowime 7
Hat ]y

a
kOB,

g todhow g statemenls:

e ctructurs of dihorane (a3
thar bo that of cthans (001L )

Boron pitride hav o graphite ke layer
structeie ard i a lobricant

0 The clectricat covdocbvity of bavon

mitrnde v samte as that of graphate ol

Which of The ststements given ahove o
cupyeut”

a1 only
b {and3
w. Fand 3

v Mal'l - B o)

Tafi9
4. 2ondy
Johid erystatime POLG has wheeh ol the
iaklwmp
4 Hi-pyramidal msctics
o Uhctahuedral moielics
v Sqaarc-pryeanidal moictic
. Pontagonal moiuties
What v the oo of plosphate o
detergent?
a1t rduees the pli of the water
b, it mureases the pH of the waler
. ftremoves the Ca®" snd g2

Which one of the b

o of the {ollowing sets of oditals
f m the hvbrvhization o esplsm
ation o e compounds of Ne?

- SxeSp

S-S

thi

. w. S -Iy-3p

. - Fer-tia

iy v octahedral comples if Bpaads on one
asis are dJisplaced tide away from thewr
iealt positions, the cevstal Hebd splitting of
depeleblals fiw s complex 5 as piven
Tl

o
el
ol
do

The igands s dwpliced on which axis
RC

1 xandy
Boovoaly
< xomly
d. zomly

Which one of the firllownye compounds has
tetrahedeal aeometry ?

B INIUN L
o INICLET
o LT
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Which omi of the following mthanide ons
hias the highest mapnehe moment?

a Iint
T A
e, Sm'
R '

Why doos aguosus FeITE men divelop

itonae red cobour when it reacts with SOCN

wm whitle Faffhwon does pot 7

o, Fefllly jon Fmms a charpe trunstor
compley with 56°% iobs.

b FetTHY oreduced 1 FofT) wloch is deep

ted m colowr.

SON ion oxidizes o0 ON don and that

torma red complex with Fallly ion

A0 SON don does not form any comples
will Faifl} o,

The tmtemse blue colour of pressuan bus

a2kt armes fom wlech one of U

ollwing™

1. dd Iransition

i Inter vadence electnion ransier

o Lieand 2o wetal charge transts

d Ml o Hpand charpe lransler

Which one ol the following s the con

onder of the wavelensthy of absorplio

complexes

A INiH L BTN

I~

0 NG b
1 AR C
BoOoHCOOA
e 4B A
d "-A B

} iﬂ:@ﬂ sipiare-planar and
. respectively 7

ity o oscudie sad alkabme  wmedia
respectivedy, what i the valuc of L £
a. 115

oL
£ Ia
4 6O

Which ong of the filowing processes s
tsed in the oxtracton ] maonedaon
1. Self reduction

i)

3 B oare the equivalent werghts of

A

4
]

ERTI I
b Fhoermste reducton
< Fused sal elecirodvan
d Aquevins sobulion electralvsis
{n which one of the (silisymp minerals, s
alupmimiom sob prescnt?
A Cryelie

h Niwea
v Tefdapar
L Tleorspar

An tpare medal i allewad 1o
vartwm memeeide af S8 17 am
gas thus Jormed B collec
(eeiher b gl N7
rives the metal of O
the pwetal"
@ Fe

wedure
LR ITTIT

far - :.IPF

e masses; TH o 2000 A016:

D830 LY 2,0

4 het w Ehe enierpy redeased | the avcloer

reaelion gmiven abiosve !

a  In TNy

b 16T AV

v 118 Mey

4 1018 MV

The Bighest binding cworgy per oucloon o

fi which of the fellowing?

4 Nuelizd with mass aumbey aronmd H

B ocke wrth masy aumbere below 26

¢ Wucken with mass nembers much ahoe
1268, hut bedow 2660

A Noctey with mass nmbers shosve 2000

Which e of the ifowmy w the [PAC

nane of KT o N ?

A Dortsssiuny forrog vimidie

b Potwasdum hesacyanie berrate (D01

Tripotasstum hexacyvans fomales

. Potasaem fermevanide

Whil s the vomedt FUPALT pame of the

scempesiend

%0 U Hes POTOHLPU 03 bt M=t

1. ditl, -dipheny! phosphing ciluape-bis
fdimitridiod modyBdenum (1Y)

B bis ¢ b Zedypliony b phamsphbing clhane -3
{limitropend molhdenum W

L]



o 1

. his {1, dipheny! phosphing ethane)- 1. fhenat
Bis tdimitrogen) malyhdenesn (i) 2. Henzene suiphomic ackl

d. biy gdmitrogeny - Bis (], Z-diphoey 3, Hensoie ackd
phasphing ethany) molybdeoum () 4. Ethy! aceto scetale

6. How maay slereaisomers are possible for 5 Acerviena

the ';".”“pie“ [PHCT (Bey (1) {NCR) (NI Sedect tl;e correct answer wsing the code

O ? wiven below:

a. I3 o b 2and 3

b. b, 2. dand s

. b2 2 and 3 withy

d. & . dund F ol

onsider {he Fllowing cach

.
_ _ d
7, To prepare cis- [PUNHRCHE which pae 5 -
of chemivals v needed !

2

1

' . Neapentyl
g [PUMNH: | and KCY Henuyl
b IFUNF) [ and NHCI vty
2 [P E and NHLCH 1. Pheny!
] "L. |pﬂ=_ 4 “”d_]:"‘}'l" ; o Which one : 1‘5%'&“1: i the corred
3R Wiat s the COryste] Field  Siabibisation apder ot +
Coergy {CFSE) of a free Colll won on a

forming the tetmhedrd chiore comples,
FCo ™ tim thee wiedds ol A 7

A, T
3.2 . .
e 14 der e toliow ing compounds:
Jd. 24
39, “Minamata disease” v caused by

o of the following 7
3. Tetramein i lead
B Aeothy] thallium

€. Methsne T Hr
A Methyd mereury o B e
At Consider the fodlow
eleossety helow as L
{ CHY, HEOOOA .
1 1CH, What s the comeot sequence of the

compownds  piven above in decreasing
arder of their 8., 1 reactivity?
S | I 1

hH

bt -t~ H
o oLk
JdoH1 - H
. 4. Consider the follow ing species:
What is the cormect order of their dipoie Lnn
C RS i e

4. Bl Hl i1 CHOH

b HE= bl 1Y {1 OFE

. BTl I"

d. HIw ey CH i

di. Which amonpst the following are carbon ¥ : -
aeids? CH 5~—'=

W b
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1.

AT

Wihat s the comeet segence oF the species
piven  ashiwe o decrcasing
tecdecpdifficity e e 2gueous sololon?

O ] | BN B A e |

L R ] B 9] R

N U § S R A 1

I RSt ] ST B ER Y

Whin is/are the pronduets) for the Rollosaing
reaction !

. - "'-\.. |'t'ﬂ}t;
_;f :':-u" .
i ) [
Ll
q H
L \ o
S
|
e Tagustd denees oF (o) gnd )
— LA
L
) -

it
Peromids effect is 4 ven important {o
af the chemistng of Mhenes amd o imoesg
etfect duriitg the addition of whn
the Totow g

n. HBr

b, HraHl
. HUI

d.

Mateh Listd with
COTECT IS WURRISE
1he Ests
L.zt
{Loann

an fetrachborle
Tligh beslipg sodvent
w1

{ FuneEiong

b hain transfor agent
2. Pree-radical ivdtizua
1 Plasticizer

1 Antioaddant

ol

B ALBLUL M

orifer  of

NERLE &)
B ALBLCT D3
G AL B4 O3S
d ALBLOLIM
18, Fenormig s 3 drug used in e remment of
high blivd peessire, anpins and abaermad
heart rheythies,

-

i ai

H N ot 7 e b e

; -
1 --‘}lr

AT
Eali
Wital @ the correct order f
mebched hyvdrogrens of /
in decrensing arder 7

A I=01=3

B, 3223+

- L
[ 5

R

49,

) L“xb

For the aleedudy piven atwne, what 15 the
inereasing  ofder  of  mcactivity owards
dehvdrution”
a4 HE=
O IR |
¢ dl=EH~ I
d ok
nl{}

cn}—g—m ; {I}

L"li]-j-—i} : {\,}- NG,

-

{,'H}——ﬁ——D---{r o3 OCH,

1

Fert the osters given slwwve what b the
arrect omder of deoreming  recnivin
towgrds ofkatine fivdrebvsis 7



w o T HE
b F - H
¢ H - H
d i =1 -IH

84 Wlat are the prodocts A oand 3 om the
G amw g yeacion

LH, ;
i (o S
M'ﬁhﬂﬂ 1"mm= LA T
o,
CH, CH,

A LeomB Ge

CHLH, E;i CHCH,

]
b

¥
CH, q_:H3
A _IJ%;FDTS i3 p -
CH,CH LHCH, &
b T T
H, Hy
A. P w3z B H-C=CN
i L i
. CHCH, CHH,
H,y Cit,
i

T P vt v bl 1%

wifeor  produer watl e 2, 3-
livl-3 -premianed

The magor graddact bas one sTeTReperEs
Lehtre

Wihich of the sademests mven alwne me
corect?

g 1,2 ot 3 oaly

b 2, Zand - ondy

¢ land £ ondy

d 1.2 Gandd

ST ]

oM, A,
B ? - gy
;8 A
CH, A g
3w
A /’ “eis
| L

A -
Il LK.
P _f:n
-h.._h: F
< o,
[ |/ -
i'\'ll 1Y l;. ¥

Cormader the abuve s
relabonship a4 give
dhatenenls
b Seereorngd

pciaedbess und Hgee
i fulbowinig

Ef@b;wuwni [T

EH are digslerconmiers

i Y 1o enantiemens
shtetiemts siven abise b

S I I )

dnd 3 ondy

3ot 3 anly

i MNone of ) i (o)

What is the comect order of the following
dimetwicvckshexanes i docreasing order
of Ihet relattve stalahily on the bases of
nane gaucly imerpctions 7

I T T

% S ¢
; i L M
M
1
F e
3 L
F T M
;o !
. g T S M
Me
3
’.'Hq_"'“* ~~~~~ ._,.v/f}
T = Fl
Me 7 o~ /
4 "'\-»_\_f.-'" "-'\-..__I_h_"-l.

Seleet the correet srawer bsng e code
piven helow

a F-3.400

bk ¥
T BN

-



" d 252430 "
COOlt Br ——H
%! ") 1, H -1 Br
Br - o H I o,
CH,OH

What is tie abgolute contiguration of chiral
cerdres 2 oand 3 of the comporued given
above 7
4. IR. 3R
b 2R, 35
. 28.3R
d 25 3%

. Mach Lise-l woh Lig-lI and relect the
vonrect auswer nsing the code given below
the s
List-T
| Newmen Projechion}

i'h

d. A3, Bl T4 02
37 Consider the hydrogen atoms labelled as
H o, and Hp an the following, molecales

CH .
1’\ ,.fi A
,C-’i'l:\
A .,
H HB
I.
COOH
tg ——OH
COOH
3.
CH,
T — e .
o H H Bt
E s =11 H, — b

{Fischer Projection) EL‘H,'
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Ry o
H / b I\
-*u"\.. R
\}i'f ............... b
i Y,
Hy R 43,
3.
i which of the above are . and M)
diasterectop’?
g b, 2 and 3
b 2. 3and4d
b 3andd
d b Iand4d
3% To decide shont the opcine of hydrogens
m the stereoisomers | and 1B the hydrogen
growmy were  soccessively replaced by oa
substibuen! Y s sliown by
A fr
¥ -1l
Hty-—- H
> SA
U e v
[L (R ¥ Turccrswr .'\-. W
I..L IRilss el " 1. - O
i
A
P 62,
MO
Hobe QR s
5 @3vem In 63,

Fdvogens are homotopic m | aad
BRreractopic in

The hydrcgens wre diastereoiopic in |
and emantretopec m 14

The Ivdrageetis are bomolopic e b aad
enaptiotopic in 1

Whieh of ihe srarements aiven zhove s

1

conrect?

sk onby
B 2 anlby
L 3 onby

=

soe of the alrmee

LAPNE I B
A Sud resctiom @l an BEyrmelrts
corhon of a compomkl ahvavs pives whieh
one of the following?
A An znanteamer of ihe subsirate
b A4 product with oppesiie optical fotation
¢ A miatire of deasieresimers
d A single steredmonicr
In which one of the Indlow g reaction
final product & ool 2 primary geob)

.:.fif_\. r CH MeBr —

HCHG + CH,Li —»

B-—COO0H e R—C—-R' 7

]
il

0
{t5 ROH « V10 tit) H,0
bRCOOH iy OH
o R MY 1;1'1'}H3{)
H,0

d iy R tny
Wiich ong of the Bllowing  compoceds
cnet b sytithesized v the gectoacete
esfer synthesis 7

a 3 3-dimethyl I-buranone

b 3 amethyl-- 2-pentanone

1-meifvi-— 2-pemanone

d Z-hexanone

Among the lodlowing, which ong will have
the highest dipsle moment

e
L

e

a

_._-_:"r-'r““'“n T

o

h %_f:'hﬁ_‘hﬁ?
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by

i
d.
Which one of 1he following ts aromatic?
/'::'\
i &7
%
o
: AN
.-""::':ﬂ e
- Voo
|
S .J
ey
[
e 6l
:"';7’ f -+
d S

Mach bList-] with Lisi-il and selec
correcd aitwer Usinge the code given by
the lisls

Last-l
&
A NH,
g i
{ OH,
D -NH: o9
{as1-11
| o, p-di e 10 resonance
2 o inductive gifect
3 caae 1 iy per Condueation
g due 40 reverse hyper

AL B4 L3

L8B4, O3 0
G Ad, B2 O3, Dt
d A4 B2 {1, D3
When nittobenzeni 1% heated with Zn dest,
NHL(1 s ethanod, what is rthe major
product Foarmed

. 4 Hepzene

st §h

r,rNHDH

Wiuch ome of the
woudd be produced
AMENOPET TR
PRy aee :
4
BOEE CHITY £ BT
FntiEEhenzene
shenzene
the comect segoence of  the
ing compounds in the increasing
grder of reactivity towards mig siration ¥
' bromohessene
nirobenzene < oalnene
b Toluene <benzene - bromobenzenes «
Allrchenzens
¢ Mitrohenzene
bemtzene - ioduene
4. Nitrbegtene
toluene < henzepe
Which omre of the follewing compoands s
[-swgar giving an opticalhy active pendin
o reduction
Cho

FCompounds
Honitro- |-
willh  fluoro-

bromobenzene 7

B ontoben e

CitOH

CH
=
1L
b 2
CHLU
L
i

CH.ON



LFI*IE'}
£H,GH
) Which one of the Fdlowing is the corree
fgure of [-D-plecopyranose e Howarth
pececiion

TH 0
i o

;@H“}*
Y

O oy

[ HJDH
et
Lol
L.
o
Her gy

&P
Ht};

gt
¥ H{}}I

T

Strocker
Rirsenmund
Gabriel
Williamson
Aming acids cann
which of the above™ |
a land3
b

i.

T {onsider the foltpwing synthepo msthof
'I: )
i

e

wthe following molecules is
table by HK spectrum *

co;
{Tonstder the folfowing statemens

[ B N 1 a forbidden
Irapsition

b, 2-Daphenviethene absorhs LIV light
# 3 shorter waveleneth, 1hen by rans-
EseHmEr

feansitiont

1.4

T4

Eivad 25
3. !n more polar sofvents o - n®
trapsitions expertence & red shift b =
-+ B traAsitions show biue shir
Which of dte statements given above is/are
correct?
a  §and T anly
b 2 and 3 ondy
¢ Fonly
d 1 land3
Consider the folipwing compoun

carred

sequence of  the
en abhove 10 the decressing
= i

e abwoeplion fregqueney {in
the JR specinm™
i =i

RS R
¢ HI=EoH
d HI=B

Match List-1 with Lasi-11 and select the
correct amswer-usiayp the code given below
the lists

{15kl

{{ ompotn|

iR

|
HOOC-C-C-Ct

A Cl Il

CH-CH,-O-CH,-CH,

CE} - H

H =

CH,-CH,

T

5 CHCH,

Ligt-1i
idumber of PAMR Siunals}
I

B

c H

F-oU P S |

]

2
3

3
c

pido
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17

TH.

ka

Hailk

a. A BLUR L deg w1
ho A3 HL UL L LY
co AL REEL I3
4. AL BL UL 5y
The 'll-nuckear  magnetiv  Tesonunes I
specttum of 10 20 ddrichiorepropians T e
exlrbits wlhitch of the fodlowing : " =
g Taosignals, o dooblen and o guintel a @™ piag g dominam refe it
b three signals, two dowblets and w viginity of ¢ - Bonly
'_"E_“im“? . b, ¢ phivs @ Jdominam role as ¢ -
L { _u.-n 5_1;;:11-1[2-&. u tripkd and o dmthiui_ e o plays a dominant pok
d. Five signals, toor deublets and a quintet oA T ays u dominmd .

O owlibch medhod o the datomatically . i .
- do ¢ plavs s Joming

popraniied  mrachine o pabspeplbindy S T L
progTan q petFpep whike @™ g Aam ride 35
sy thesis hosed ©

A c —+ H

i Van Syke mathod

v S oanger method

. Merritield mothod

d Fdemun degrabation

The vinad equation of statc s wiHlen s

e 1B
P—RT[‘F'E'—‘ET—T .......... ] )

e o

vergee viiiigion ke of
HHE muoan froe path of
ven gvenpe speed of

HE. Wind will b
RSN T ,5
ORETIC

suuins unchanged

e wverdpe  elociy ol hydeopen st
stungdand temperature and pressure (ST bs
L5681 emis snd s mesn Fee pab is
L7810 em, What would be the cotlision
Hr ke et secontd w3 NTP 7

T [l

Wiich vne of the Fdlosving pis ey the
axprassion for the constant BETy fera
v der Waad gas

b 2wy
RN
d, dw

Consbdor e fidiow ing sisdemcats

{, More than one adabitic provess k&
peasibde bedween two fived siodes of o
vlosed system.

X For cdosed svsiom., ab comshunl pressare,
with pise of temperalure Free coerpy 1)
o b systern decreases.

3. For sdishakie (ree eapabsion of fived
waouwm of perfedt pas, eniropy Chanpes

(LAY of the syslem is positive

b, 1L eve Whicle of tite datements given aboyve 155ane
. vl verect?
g v e #, 2 onby
Which one of the Fdlowing s coreect as per b, 3 unby
upcomparticd dagram . Yand 3
Jo Lund A

k4. {onsider the following  stiements  Gor
eHERpy




8

L

ih 3

tTaf 15

Lo his s sede funchion. Al

X it w A path weedependenr Bunction, i3 il

30t o always pesiive amnldy for A
rabdom processes, . &G

Which of the slatements given above ac |ast i1

et ooV 84T

A | and 2 onhy 2 TdS - pd ¥

B 2 and 3 onty 3 -pdv oo SdT

<. |and 3 only 3 Tds% - Vdp

do L Zamd s e

{'onsuder the tollowmyg <tatemcnls b AR OL D

I. the worlk done m the  reversible . AL RILOCA D
iwothermal expassion of an e pax i e AT BRI DI
reater fhan that Tor 2 van der Waal. AL B3 DY

I Whot an wlead g andirgoes expanision R,

For M clop)d in g v with Mt

wrder  adiabatic comditien ™ vackiom . e .
v frcehat | Ak - oty cal ma! ! and A8

mlemal coergy Inureases gas.

Which f the stelements given ahove isare
corpeul?

a. only

b, 2oniy

o [dork oand 2

d. Nether oo 2

A buhble of 2 mal of monoateme uleal zay
sxpands 10 3 certam 9ize whan b
IR walker sl g cerlain dopth whorg wal
woel  as the gas bobble  undem
temperature incrgare of NPT sl
pressure. How mock heat

X
or extracting the solue X [om wa
0 e agueous solbnion. 1 tha partition
eocliicient of X batween cther and wales iv
4. whal fracbon of X w oxtracied when WM}
em’ dry other w axed in two installments of
cepssl vodume?

vy during the 1 a 2z q

{¢iiven gus condlmml K31 K L

1. 1.5k < ¥

b T1EKI d 13

o 5851 . Which of Ure {ollrwire slalements 1s ave rol
4 235k corroel

{me moked ii’i;‘%r as is exponded I the phase dugrom of a2 substance

shows  the regions of prossre and
letyperature at which e varioas plhiases
arg kinelically stblc.

M K F fEoim volisne A
dnt' and  Dnadly  sttoins
booquitibrnae. What are  the ’ e _ ]
age af the system aod that of Fhe irm:zmg point w'hcr_t ti‘m.prm!.'l.:rl: Is
ings rewpectiveby (Bo= 2 ocal R L har s called siandard freezing i,mtm.'

sl amd i 16 = 230340 3 The nermal and  sandsrd  Ireczing
36K and 46 cal K prodirts ave red ligibdy ddlarent lor sosl

b ohaiKand 1.8 cal K7 of the cagus.
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Seleet the carrcet answer usng the code
given below:
4 lonaily

SMoteh Bwesl owih List-IT and sclest the 4 :
: B Zand 3

corredd answor ksmg the code piven below . yand 3
the hsts {The stmbols bave they usuasl oo tanes
A, 2only
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A H3 K, the vapour pressure of bonzens s
FER Tiwr and that of cyclobexane s 122
Tort Assoming ideal behaviour, what will
be the vapour pressure of 2 solulion For
which the mote fraction of benzene is 0 257
g E18 Tomr
b 1% Torr
g B2 Torr
d B2 Torr
What will he the numher of phoases.
components  amt  degrees  of  freedom
redpechvely of the asealropic mibxture of
wided and athamed & 1 attn ot eepnlibriem®
a 2 2and2

b § 2and’
£ 2. 2and il
d 2 3andt

What would be e vapour pressere of
watetr gl 38 O in 0% aguonus solation of
ghucose {utven vapour pressare of water 8
R C s 3 B 7

a 4dmm
b 322 mm
c 3 Emm
g 34mm

Caleiurm mtrate iomizes in water i3
CafNOL ), = Ca®’ + ZNOy
Elevativn of heiling  posnt
stumws b observed malar m:
gargiEsl its normal modar m
wikh Be the degres of 1
nitrate *
o 2S5
SEER

Cmolarity o 8 sodiion
§ w of sodium ydroside i 250
on

5
it
What is the concenrabion of oxvgen al
P and a partiab pressute of 421 atm
appiving Henry s law equation' (Lnven that
Henry ‘s constant b = 1 38 x 1V molgs L7
it}

g 20w B M

b 2ax BT A

ug

[ELn)

1)

102

im

{d

Lz Ba
£ IOx16°M
d 1ox 1ot M
The  modae  conductivity  af O N
CHACOD e a1 298 Kois | 65 mS ' mol’
U Wit ks the K of the actd 7 {Given A -
3 S ol
g b &4 xp
boEsdx ot
¢ B&dx fo?
4. MWume of the ahave
What 15 the electrode potentig
electrigke in which conceny
ons g 200 M P [Givens o
electrode porential ofgl
{lmgqe 2= O 301
a nizav
[EECRE TR
¢

d eeciode

Aercutons oitrate

Mercurpus chonde

A cument of 3 A passing teough siiver
nirate sedution For 20 nonites, deposits 4 g
of slver What is e electirochenecal
equivalent of silver ingm {0

a E11 1o

boE1lw o
vooETT ot
d Bl w o

The el of the cell, ZoZn’ (01 M i M
{1.F MH My is found 1o increase by 800
VR AT emt of ths cell at 25°C 15 1.6 V,
Wat woudd be enthalpy of the celt reaction®
A -ieniidl

b le63id ]
£ 251386
d 250286}

in the hvilrogen-oxveen fuet cell. which
vzl s is used i anosle vessel

a  Fenely divided platingm o palladium

b Mixiore of Col) amd pldtaniim

£ Mixture of Col) and palisdium

d No catalyst |5 regumed

The rate equation on the basis of following
data lor a paseows reaction Ay ' 2B - AL
%
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1496

{47

{4

Rate of A | Urntcentration
disappearance {rmerd 171

(ot L' s As 8
P by 110 01l
NI ELY 0113
24 byt {} 11 00

k=

A - k [A BT

b -d{A:pdek [A] B

¢ Al - kAT IRT

d d{A-}dtk [AT{B]

fna 1 L vessel an 300K eb1s Found that the
specific reaction rate of ammonia syithesis
is 00 mol U5 Wihat is the rate of
fotmation of ammana ?

g 01 mels”

b 0] ok s

£ 000 mal s

d Fmols'

A fiest order  decomposition  Teaction

completes s 0% e X mamites I owhipg
thne does it complele s 873 7

a 35 mondtes

v Aty ermtes

¢ A0 minuates

d. 60 anomtes

Thic rmie faw for & reacuom A —» produd

dla}
s K[A}

For & given (nitial concentrang

5 e rato of the lme fovd 107
. ) ; .
o fall 1e % ti th Cep lrat ot
A
b fail to [ L’ 2
in

|
b
<
d

Intemnal conversion

b Intersystem crosstng

¢ Pluorescence

d  PMhrsphorescence

When a substance "4 13 exposed o feh
for T minmutes, 001 mole of it & reacled
in the same fime A ghsorbed 0y (0"

10

111

La ol §%
photns per second. What 13 the
quantet vield of the regetion
4 5w 1Y
b otax|n”
¢ 20x 10"

d  Fow g™

Consider the tollowing statemenis

|l The (Tee pgnergy chanpe {A0)
chetnical  reaction  changes |
presence of @ catalyst.

T Inan enpyme catnbyred re
¥, .} the order of reactio

Which of fhe statemenis o

correct”

3 Eonly
b 2only

isfare

1!
d
The len tatt for enzyime

OR5 L8 piven hy

inatial rate is equal o one-halt of the
nal rate, then what | 5 K, equaf to ”

5L

b 2[5,

¢ L2 HS
d - {5,

Match Lest-l with Ligtell apd setect the

Comect answer Lsing 1he code @iven befow

the 1ists

List-|

A The catalvst is in g ditferent physial
pluase Bom the reaciants

B The phenomencn of ane of the products
of & reaction iiself acts as catabyst

{ The phenomenon  when & catakyst
reduces the rate of the reacion

L. When the catalyst s in Lhe same phase
a5 the reactanis

(RES 2 |

b Autocatabvais

3 Negative catalysis

3 Heterogeneous caraly s

4 Homogensous calalysis

{ode

a A2 B4 (3 131

b AT BECI D4

v AT BEC3 134
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113 The coegelation of 1Y ml of codbodud
sedutacnt of gold is completely prevented by
the addition of G25% g of X 10w hefore
pddagien oF 1 nd of (0% MNaCl sclution
WWhat i the pobd oumber of X7

g NI
b 250
£ 2%
d 25 1%

{14 Assenion (A}
proint than €01,
Hoeasont (RY There s a pe—dy overiap
betwecrn U1 and 51, thus makme 51-Ct boaod
tess polar
A Bl A and R are indivedually foue and
R 15 the correct explanation of A

b Boli A and R are individtaally drue and
s the carrecy exgdanation of A

G A bs true but R s false

d A s false but R4 true

115 Assersion (4)  Dissolution  of  some
seconday amd  tertiary  alcohots in cold
concentrated  HoA0L resubts i gradual
separation of an inspiuble lguid of higl
hoifing point
Reason  {R)  Secondary  and e
aleotiels easily form alkeney whicly
aovd catalysed prolymerisation b
hoifing insolutde Haquds
n Both A and B are inds

R s the correct e
b Hoth A and R

SiCHL has lower Doiling

1y

114

The rwiterion behaves like a

Both A and R are indivedually lrge and
R i the correct explanation of A
Both A and R are mdivadually true and
R is the corect explanation of A
C.o A s trug but R s faise
d A s Fabse bot K s trse
HY  Assemnion iAYF The boiling pont of 01§ M
Urea sotukion s less than that of 0 | M KO
sleacnt.

ERL

[% 4 8%
Reason (R) Elevauon of boibing
putnt 5 iftversely  proportional e the
numbers of species present in the salution
a2 Bath A and R are individuslly e and
R s the coreect explaation of A
b Hath A& and ® are individuslly frue amd
H ey the correct explanation of A
€ A i e bul B by {bse
d  Atsfalsebut Ris tree
Assertion (A) Cafomet electrode

sparinly  sofobie sali of
sed ezt o & sobubibe sady of
Regson {R}y The ;

g Hoth A and R are
R s the

Ay Hydrotysis of ethyl acetale
noe of acid s @ reaction of s
A wheteas i presence of atkall, s a

paction o second order

Reagson iRy Acid only acrs as a catalvst

whereas afkali 4cts as one of the reactants.

a Both A and R are indrvidually true and
£ 13 the corrort explanation of A

r Hedh A and K oare individually true and
% is the coredt explanation of A

¢ Ais mue byt Kis (akse

d A bs false but R s true

Asseriton {AY  For the  following
photoclemnies] decompasizon of H

HE —sH o+

H+ Hl = I, +1}

I -+ 1

the quanwm yiekd is onky 2

KReason {RY | atom is relatrvely unreactive

and does nol participate in the  chain

PEOPAAL T Step

a Buoh A and R are individually true and
R i5 \he comrect esplanation of A

b Both A and K are individually true and
R is the coreect explanation of A

¢ Ak true bul B s fafse

d  Aes Galse it Bos e






